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TENS ft JE 10. 00| FA % 370 3,700 2,052 1,588 1, 296

ZiED moB 10. 00| AHxf 20 200 3,132
H ¥ £ ¥ 15. 00| AHxf 373 5,595 1,458 1,165 810
X D O 12. 00 | #H%f 343 4,116 1,458 853 270
ESF AWII--N E % 4. 00 | FHxf 19 76| 3,024 2,944| 2,808
E 0.20 #A%t| 1,020 204 108 89| 86
H & 5 H 3. 00| FHxf 144 432 1,674 1,424 1,188
H A el 1. 00 | #H % 245 245 648 462 162
ENIEE .00 4% il 55 2,700 2,420 1,890
AN X K 5. 00| FH%} 281 1,405 2,052 1,580 594
B | 2.00| #ExF| 64| 328 864|  s822| 702
= %% 4. 00 | FHxF 300 1,200| 1,080 985 540
[N 5 5. 00| FHxf 269 1,345 1,836 1,511| 1,080
= ;| 5.00| #Exf| 8| 510 1,944| 1,783 1,188

I 5O 10. 00| AH*F 125 1, 250 2, 376
_XF b= b & 3. 00| FH*} 22 66 972 952 756
EN R .20 fxr| 30| 5| 19l | 108

a0 " F 1. 00| FHxf 15 15 3, 780
FEEnsE &I 10. 00| AHxf 77 7701 1,512 1,484| 1,458
A= 4 S 5 10. 00| AHxf 47 4701 1,620 1,473| 1,404
£ A L 10. 00 | ¥ 1,119 11,190 1,620 971 648
EH o X x o 10. 00 | #H % 8 80| 7,560 5,940| 5,400
+5o& & o e 10. 00| AHxf 17 170 4,320 3,685 2,700
LA A E ¥ 10. 00| FA % 776 7, 760 1,512 1, 247 540
P=—LF R £ B 4. 00| FH%f 455 1,820 1,188 702 432
Tryal— E B 5. 50| FH%f 40 220 3,240 3,105| 2,700
L xon & A 4. 00 | FHxF 9 36| 2,808 2,592| 2,484
AEMEE (i 0. 10| FA%f 1, 300 130 162 127 65
ZDEH £ ¥ 0. 20 [ #H %} 960 192 86 70 49
LU £ ¥ 0. 20 [ #Hx} 300 60 92 78 65
K A oAk L 10. 00| AHxf 98 980| 5,724| 3,888 1,620
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LEY T AU | 17. 00| A%t 10 170 7,014
5 U H & 10. 00| FA % 66 660 7,722| 7,436| 5,400
Yajfa— H 10. 00 | #H%f 10 100 4, 320
FIT T X K 0. 30| FH%f 1,012 304 454 393 302
EOlg K K 0. 30 | FHx%f 40 12 648
% P qin 0. 50 | FHxf 1, 160 580 346 308 216
[N N 15. 50 [ #H%f 1, 000 15,502 5,400| 4,690
/NP I o e 10. 00| AHxf 20 200 4,860| 4,455 4,320
Avava 74 U ¥ | 13.00| fHxf 6 78| 3,024 2,988 2,808
S X & I 0. 25| FHxf 786 199 454 328 130




